EE MERIT TEST 2022 MAINS CLASS X
GK EASY

1. @00 ST QES 2

A) PO 257500 DXT?eN SR TR 82316
B) TN D8G5 DA ST 8D HNEO
C) a8 Sr83¢5 Tang), HEDIES

D) €8¢3© AT HO0D) BN HNEO

What is an adangal?

A) A register that records the details of the cultivable lands in the village
B) A book detailing revenues and expenses

C) Certificate of stock market

D) A book explaining of the rules of games.

4. 235> GR028 2021 &S DOTET HI50(eds DT Jaen BEHZ0E . 8
5T 5170 T D). D055 YT O BEHYHZOD ScE?

Recently in December 2021 Bangladesh celebrated golden jubilee of Independence. For
how many years the golden jubilee been celebrated?

A) 25 B) 50 ()75 D) 100

4T EBNCB0 SO HBBAST® T°EE T FDNOE
A) 8¢ POV B B) aX R ACN0 DTS2 syen
C)oenden D) TS Sedoen

Malaria disease transmitted by the bite of

A) Female anopheles mosquito B) Plasmodium parasite
C) Rats D) Monkeys in villages

GK MODERATE

3. 2.8 DIFRVEOH =------ VEo®



1 micro second = seconds

A) 106 B) 10° C) 10°¢ D) 10

5. PSS 558 Hdosod

A) (DD 237385 e383 DD
B)S0¢¢3 2308¢% 5% eofdes
C) 100 CBI 3B

D)2e3rded SO (€3 OF* QI

Identify the person in the photo

A) India’s present Army chief
B) 1%t Navy chief of India

C) Present CBI director

D) India’s 15t CDS

GK DIFFICULT

2.2021 33 22sB00S TONANS AN S Bazeh, TONE DeHTPEeN FEODS
25 eh |80 IS

A) 9O 20, 8r0d) oS

B)row (D365, ©F . S

C) 2 BIS, DD DO

D) 8°0%) 3505, 5 DS

Which Indian players won the silver, Bronze medals in 2021 world Badminton
championship?

A) P.V. Sindhu, Kidambi Srikanth
B) Sai Praneeth, Lakshyasen

C) Saina Nehwal, P.V. Sindhu

D) D) Kidambi Srikanth, Lakshyasen

IQ EASY




A)

B)

c)

D)

10. 28 SBDE’ 36 HOE 2rOFeN Eao*) &) FoBRD) DS 0 1465 @870 BeddS. oV
SR DCHeNP D) S TN 23OAT® DR D3O DO SR N0 DA?
36 girls are standing in a row. Ramya is 14 from the right end. If she is shifted six places to the

left, what is her position from the left end?
A) 18 B) 14 C) 17 D) 20

12. 072 0O T°Ed O S0 HaSIPBen &) B & SLrE) S0IPRR50 2 eing G &Py ¢
0N & F0¢10200e5°A B3¢0 Fo¢ao2d Qadgen PORTNNIYAY

Raju and Rani have Four daughters. Their four daughters have one brother. Then how many

total members are there in their family?
A) 8 B) 10 )5 D)7

IQ MODERATE

A)




B)

C)

D)

11. -1 &0 &8 DOWED 50 P HEFOTIT 5T0)) DO JOH?

What is the value if we multiply — 1 with itself by100 times?
100 B) -100 C)-1 D)1

1Q DIFFICULT

DS0 S A, (32020 Em) 0N

How many triangles are present inside the picture?
A) 35 B) 42 ) 20 D) 10

MATHS EASY

13, A={2021222% ... 220211 @900 A A3NE) E5d DDA © DOYPS DOH?

IfA=1{20,212223 ... ,22021} then the number of subsets of A is?

A) 22021 B) 22022 C) (22 )2021 D) (22 )2022



14, (3)3 * 19935 O30EY DN DOEH?

What is the value of (3)3*1°83> ?

A) 135 B) 38 C) 243 D) 45

16. Sin 0 == 500k COS f = £ w0 & §o T I Hge?

If Sin o = % and COS 8 = % then which of the following is true?
A) a=f8 B)a < f Qa>p D) None/od 526

17. p(x) = x* = 3x + 1 G $rargen a <00k b wowd a%b +ab?=?

A) 9 B) 3 C)-3 D)1
If a and b are zeros of p(x) = x> — 3x + 1 then a%b + ab?=?
B) 9 B) 3 CJ= D)1

19. 28 OQ) NoSBoeS" 53 SOTPEI0LN T°SGPAS DozTsSged ST D

Find the probability that the leap year has 53 Sundays?
A) 6/7 B) 1/7 C) 5/7 D) 2/7

20. 2x+3y = 7 08050 (K-1) X + (k+2) y = 3K QoS 35390 ©30¢5 r¢35e0 DAY <S K
DV DOH?
For what value of k, the system of equations 2x+3y = 7, (k-1) x + (k+2) y = 3k has an infinite

number of solutions?

A) 7 B) 5 C) 4 D)3
24. x>-2, y<4 0N (x+3, y-5) @ DOCNY) 50 & GOENOA
If x>-2, y<4 then the point (x+3, y-5) lies in quadrant.

A) | B) Il C) 1l D) IV

25. “TanB” Qendsd Cosech oS’ g8 HSWS P

Express the value of “Tan8” as in the terms of Cosec@ is

Cosect VCosec26-1 1 )
A) \/mB) CosecO C)m D) V1 + Cosec+<0

29). 30,34,35,36,37,38,39 0005 40 5e> &0 450 0B 35 93 2.8 U073 SN0
0855 55065 KBS
If 35 is removed from the data 30,34,35,36,37,38,39 and 40 then the median increased by



A) 2.5 B) 3.5 €)0.5 D) 1.5

32. S00°C8) 2 SEN DO DO 250850 ¢3S 22100 ,89T3 BED PN 23758 BN
S0P 08 S T 2850 90NN 2,8 275N $NOAW 28 22063 Y DOeh?

The cost of 3 Bats and 2 Balls is 2100/- and the same type of 4 Bats and 3 Balls cost is ¥ 2850/-
then what is the cost of 1 Bat and 1 Ball?
A) %350 B)z450 C) 3750 D) 2600

MATHS MODERATE

15. 8322350 ABC &°C ¢ ©028%90 &3S’ cosec™ (A + B) Densd Joes?
In A ABC, right angle is at C, then the value of cosec™ (A + B) =?

A) 0 B) - 01 D)=
21.(0,0) and (3,/3) 0805 Doy HOE T T BSOS X- ©E0 & T &0

The inclination of the line passing through the points (0,0) and (3,v/3) with the positive x — axis
is
A) 30° B) 45° C) 60° D) 75°

23.A={x:xx=5n,n<3,n EN} B={x:x=3n,n<5,n € N}eons A-B =
A={x:xx=5n,n<3,n €N} B={x:x=3n,n<5,n€N}then A-B=

A) {5,10}  B){5,10,15} C){5,25,125} D)@

26. 20V S @52)_015&0@6 | =30, fo=f2=h =15 ©900S 200 %o =

In finding mode, if | = 30, fo = f, = h = 15 then mode =
A) 35 B) 37.5 C)42.5 D) 45

28. 23T EODS ) ) OB 2.8 5B A <5, Sobard D D03

If One card is drawn from a well shuffled deck of cards; which of the following is correct
PEg0 A: P (0dB0) 0°8d) = P (Sews) o)



FEg0 B: P (G0l Q) = P (D& 28)

Statement A: P (Red queen) = P (Black king)
Statement B: P (Diamond Ace) = P (Spade Jack)
A) BO&® 0550 B) BOCT @©0ed550  C) A 0¢850, B @90¢550 D) A @90¢%§0, B Oeds0o

A) Both are True B) Both are false C) A true, B false D) A false, B true

30. 009 2T0DE X3 — px2 + gx — F TBVEY PN A,B,C ) 0N —F—— Densd JOes ?

ab bc ca
If a, b and ¢, are the zeroes of cubic polynomial x3 — px?+ gx — r then what is the value of
1.+1.1
ab bc ca
T —q q [4
e ) ) D)%

MATHS DIFFICULT

18. ———=2.021x 10° o0 m+n=

' om+3 gy gn-3

2021

IfW =2.021x 10°thenm +n =
A) 4 B) 8 C) 10 D) 16
22. log sin0% + log sin1° + log sin2% + ....... + log sin90°=
A) 1 B)O C)-1 D) undefined/&gDoudendicd

27. (€3250235300 ABC G308} e ¢ BO(S0 0(2,3) 08O A(1,5) @00 AD Sd¢355ed B
H DOeh?

A

(o]

c
B D

If O (2,3) is the centroid of AABC and A (1,5) then what is the length of the median AD?



) 35 B)3v/5 C) 2v/5 D) Z‘TE

31. A (-6,10) 080 B (3, -8) DOCNYO Ee0) DIPHOC0 X- @80 &) DoY)
5P DOGBNOE?

Find the point, where the X — axis interests the line segment joining the points A (-6,10) and B
(3,-8)?
_3 -5
A) (0) B) (-9,0) C) (-1,0) D) (<0)

SOCIAL EASY

33. ST BSTONDAS A Hd8odoB
A, FoFoen -0 (DT
B. 5°80s00 Focsen -S8¢
C. DeABIEN -SNFC
D. I §0csen-57°¢r8

Find out the wrongly matched

A) Palakondas - Andhra Pradesh
B) Cardamom Hills - Kerala
C) Nilgiris - Tamil Nadu

D) Palani Hills - Karnataka

34. 5865 DNS0 ) BOMPIE HODOHODIE ?

A) [ PONE  B)OIBOH C) DS D) T
Green revolution related to the sector of

A) Primary B) Secondary C) Services D) Foreign

35. &8 (808 ¢3S aredrre8s ,Ar0anE OO 9581eh I (B8OBE TRE A
A) 12 DBTOS B)RP0D) 98 528588570 C)80DS JRE DYINES 0805 es&iso

Among the following which do not come under community, social and personal services?
Public Administration B) Cultural Activities
C) Real Estate D) Education and Health

38. BogDE & WY B3Polse FOAS 2er DO?
A) D8y B'aeasd B)&rdy (Farasd C)8ye D) bscd

Which district of Andhra Pradesh has more density?
A) West Godavari B) East Godavari C) Krishna D) None



40. ST &) 28 ook

A)R6E Hidoss atngio : 1914-1918

B) 030208 DByEHG : 24 08eb 1945
C) eodmrdah LusTve P o ecsii0:1914

D) gavés & : 1907

Find the wrong pair

A) First world war - 1914 to 1918
B) Formation of UNO - 24.10.1945
C) International women'’s suffragist movement - 1914

D) Triple Alliance - 1907

41. grdS §6 Frocsoes” D) ¢ TR BDOTEHVL HATET SBHEreD BT
A) §°:'Dl)5 B) DAY Toerd  C) Dddo B D)mo@bdo

The revolt of peasants took place in Travancore of this place against zamindars?
A) Cochin  B) PunnapraVayalar C) Pathanamthitta D) Malappuram

SOCIAL MODERATE

36. 300 TAS” DA™ &) & IB?
A) ©=r0%0 B) £ - & (o Doodo C)&eag°S TPOsL QG D)essdaredo

Which is odd one of the following
A) Latitude B) Land — water relationship
C) Upper air circulation D) Precipitation

37. BOWS°D DABOR 90GER HFORDFUW JocEdT
A) cmjo Joyeeo &0 Doeddocsd  B) Desg 0 VPoPE Do
C) By 2ere DoBLes DR D0 D) 0w DD )08 DA Do

One has to appreciate perumatti of Kerala, because
A) They fought for the construction of dam
B) They fought for the education
C) They fought for the protection of the ground water
D) They fought for equal women rights.



39. 6ar (00D, “AcSoT® TS TEHVES’D 2 AINE), DAL BHVOEY” D LPEAAE
o8y co?
A) ™odd B) D0.d3.ora% C) 3w D) oerirb
About Russia, which Indian said, “It all seemed like the work of the genii of the Arabian nights”?
A) Gandhiji B) M.N Roy C) Nehru D) Tagore
42. ooegorio 06 1935 air§ along) L8 SEITT €03 T°§37°§ 00 DHE?
A) R0°6 ol TEr8 B) SFere RS 2 C) DD B8 D) & 1S

Who argued that constitution is merely a copy of the 1935 act?
A) Pramotha Ranjann Thakur ~ B) Moulana Hasrat Mohani
C) S.C. Benarjee D) D.S. Seth

SOCIAL DIFFICULT

43. 2021 &° 2605 ool DGR ) ?
A)1B) 2 C) 5 D)o&) & &7 260860

How many constitutional amendments happened in the year 2021?
A1l B) 2 C)5 D) No amendments Happened

44, 308 TPA 2SBDGIG

1. €066 w0d A)es50 Diacso

2. dar 0d B)&énoer Dodoghes

3. 6% 208 C)3ew g’%gcio D Do

4, D 20b D )H%0spen oo p dacso

Match the following

1. Kurhad Bandi A) Ban on liquor

2. Nasha Bandi B) Family planning

3. Charai Bandi C) Ban on felling trees
4. Nas Bandi D) Ban on free grazing
A) 1-b 2-c 3-d 4-a B) 1-c, 2-3, 3-d, 4-b

C) 1-3, 2-b, 3-c, 4-d D) 1-d, 2-c, 3-b, 4-a



45. 306 TE BBOCHE
1.8 eegR0es
2.5%06 D6 PEBD
3.30008) 265
4.20°09) 3¢5

Match of the following
1. Pyrolusite
2. Copper Iron pyrites
3. Magnesite
4. magnetite

A) 1-R, 2-P, 3-S, 4-T
B) 1-T, 2-S, 3-Q, 4-R
C) 1-T, 2-R, 3-S, 4-P
D) 1-R, 2-S, 3-P, 4-Q

PS EASY

P) HgS
Q) MgCo,
R) Fe;0,
S) CuFes,
T) Mn03

P) HgS

Q) MgC03
R) Fes04
S) CuFes;
T) Mn0;

47. S & DX JPOSTL P B0D X-$65P DFA DB 1ocStdS S0 90§06
A) Dodore GOOE3  B) awerdd Seen C) &° 9% seeen D) 2& s°e

By analysing the X-ray patters of elements, H.G. Moseley able to find which of them?

A) Mass of the Atom
C) Positive particles

49. g8 Sa3rd Lorgo

Lens making formula
1 N 1
A)z=(n+1) (- +2)
)

C)l: 1 (R2+R1

f (n-1) " R4R;

51. $0& TP 230G
157500 es8y §0&
2. P00 TESVG
3. TR0 8D 8D
4.5°000 Ao

5. ?ZB’JDO

B) Negative particles
D) None

B) = (n-1) ()

)

11 (RZ—R1

; (n+1) R]_Rz

D)

J) CaS0, ~ H,0
K) Na,CO,.10H,0
L) NH,OH

M) CaOCl,

N) CaS0,.2H20



Match of the following

1. Calcium oxychloride ) CaSO4% H,0
2. Ammonium Hydroxide K) Na,CO;.10H,0
3. Plaster of paris L) NH,OH

4. washing soda M) CaOCl,

5. Gypsum N) CaS0O,.2H20

A) 1-M, 2-K, 3-N, 4-L, 5-J
B) 1-J, 2-K, 3-L, 4-M, 5-N
C) 1-M, 2-L, 3-J, 4-K, 5-N
D) 1-J, 2-M, 3-L, 4-K, 5-N

PS MODERATE

46. HOBTCD

1.D655 Edto &° degra oy TEI0DES 08 0 TEIoHES SEoansron
(S o o

2. T°A %o &° 90E Drfo 7x10”° cm/sec

Statements
1. In electric field electrons move low potential to high potential
2. Drift velocity of copper metal is 7x1073 cm/sec

A) 1 S080350 2 wddgo/1 and 2 are false
B) 1 Do, 2 S0/ 1 true, 2 false
C) 1 &0603» 2 dego/ 1 and 2 are true

D) 1 false, 2 g0/ 1 false, 2 true
48. 2,8 SGofio €5° DX €s) Fyoffo OO Sevo 2065 ST Joeh?

In the wave, the distance between crest and next trough is

A) 2A B) A/2 C) A D) A/4

PS DIFFICULT



50. Ro"ToSE DT°DEN0 £ BodD 5°0d
i) DOV A3rdE0 oS DEW 05rdE0eS” D Hosredowty &
i) DEW a3rOE0 B0& o AIrdLo S5°IS HoITE3otio
i ) o a3rdSo Aod DEY a3rdE0es” DS Hosre3odd &
iV) Jrogeh a3rdEo 0o Jrogith airdEoes” IS Hoiredotsd &
A) i Srgdo vSgo B) i,iv g w50
B) C) iii,iv ®e50 D) ijii,iii esg0

After the total internal reflection of the light
i) travels from rarer medium to rarer medium
ii) travels from rarer medium to denser medium
iii) travels from denser medium to rarer medium
iv) travels from denser medium to denser medium
A) ii andiii only are true B) i,iv only true
C) i,ii,iv are true D) i,ii,iii are true

52. grangod Hahes’
) G0 &°D wePY VDN DLOHS’ YY) DEVAD WENPVLD 3§ Do DY 9 Drforr
SoVTPAD
i) §90 &S°D erHOLHL B SO0 DY D Driore SedenTEON.
A) iii 2850 B) i D850 i 90850 €) i S50 i DSgo D) i,ii 9S50
B) In the process of evoparation
i) During the collision, the escaping molecules gives energy and they become fasts its speed.

ii) The molecules in the liquid’s energy decreases and the speed up’s to move
A) iandiiaretrue B)itrue,iifalse C)ifalse,iitrue D) Ilandiiare false

BIOLOGY EASY

54. H0r0:)eS’ &3d0BBD PO BLLHD (0L 5"&5.)9)50 dodh

What is the total lung capacity of human being?

A) 5800 ml  B) 5800 L C) 580 ml D)58L



PGP PES'D & &0 oo Al MPEd OO PH dFowuol
A)3rQ 3850 B) &ro (§ odOSe@E C) Oaar (ods9B°O¥ D) aFad (h9s

Which part of Nephron, maintains proper concentration and pH of urine?
A) Henley’s loop B) DCT C) PCT D) Bowman’s Capsule
58. dgPLdESEo
R: Q¥ d°go S 3G Do0K0E 2ezo ok RO §'S 0T K WO
S: QT DTV WoBEKPo OV SrE® Wotrrdd
A) R O¢hgo S 90¢hg0 B) R @¢hgo S Obgo  C) R 0¢850 S e90¢8g0 D) R Dehgo S Odgo

Double fertilization

R: giving rise to nutritive tissue that provides nutrition to baby plant which develops
from zygote.

S: Nutritive tissue is also called endosperm
A) RtrueSfalse B)R false S true C) R false S false D) R true S true

59. &SP 090 S0O0KN S Sotho OID
A) S8y ekdalarwn
B) 26532 @dadaren
C) Qo7 Faddg @@S0Haren
D) deo Wodde e9s5akeren

Human teeth and elephant’s tusk are
A) Analogous organs
B) Vestigial organs
C) Homologous organs
D) Rudimentary organs

60. 200°e8 ¥ OS" HE Arcéad) S00Fy (TT) S $¢8 e I (1t ) DodB 0 BRI, Fo oS N NE
Cied) 0%, HOAK ¢ I © AQND Joth ?
In peas, a pure tall plant (TT) is crossed with a pure short plant (tt), what is the ratio of pure tall

plants to short plantsin F, ?
A) 1:3 B) 3:1 011 D) 2:1



BIOLOGY MODERATE

53.808 9 &P HTD) 3660 DewDdR DyB) 0 B Fa0t0 Lr0eran
)66 ii)eodoer iii) & S iv)FSocko

In which organisms breakdown the food materials outside the body and then absorb it?
i) yeast ii) Amoeba  iii) Bread moulds iv) paramecium

A) i, i B) i,ii, iv C) i,jii D) ii,iv

57. 0&F P& (10 @810 w0 A8 Fdne)EPow ?
i) SPotio aOONN 3K VEIEL FN3PoEeAS
i) EPODAE RSGS0 Wra)Edo
i) 0350 2BNAED AT G0 Toto ABAVLLWD FFBNSPoS I
IV) SO0 05°gA8 0P8

High concentration of Auxins causes for?
i) Elongation of stem and root
ii) shows chemotropism
iii) Inhibits root growth and stimulates stem growth
iv) ripening of fruits
A) i B) ii, i C) iii D) i,iv

BIOLOGY DIFFICULT

55. 806 23DOR T 3HBA% N0 e/ D0 TGO 38 3en §00eS° 6ol
i) DO oo i) AN i) Dedocd iv) & 3¢5 (0&)

Arrange the following animals according to number of heart beats/min, in ascending order.
i) Blue whale ii) Human iii) Elephant iv) Coaltit (Bird)
A) i,ii,iii,iv B) i, ii,iv,i C) i,iii,ii,iv D) iv,ii, ii,i



